Probleim Set

4. \dentify the quadrant of the plane that contains the terminal ray of a rotation by @ if @ satisfies the given conditions.

a. sin(@) > 0andcos(P) >0 Quadrant: |
b. sin(@) < 0andcos(0) <0 Quadrant: 3
c. sin(@) < 0andtan(f) >0 Quadrant: Z»
d. tan(@) > 0andsin(6) >0 Quadrant: \
e. tan(®) < 0andsin(8) >0 Quadrant: o
f.  tan(@) < 0andcos(8) >0 Quadrant: L
g. cos(f) < 0andtan(8) >0 Quadrant: 3
h. sin(@) > 0andcos(6) <0 Quadrant: A

. Explain why sin? cos?(8) = 1 using the unit circle.
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6. Explain how it is possible to have sm(@) < 0, cos() < 0, and tan(8) > 0. For which values of 8 between 0 and 27
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7. Duncan says that for any real number 9

n(G) = tan(m — ). Is he correct? Explain how you know.
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charg < Yo (T~ 0)= tan (- o)
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f @ lies in the unit
8. Given the following trigonometric functions, identify the quadrant in which the terminal radvton(g)
circle shown below. Find the other two trigonometric functions of 8 of sin(@), cos(8), and ta

a. sin(@) = %—and cos(8) > 0.
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b. cos() = —%and sin(8) > 0. 2 QW Siﬂ((ﬂ toa <‘ 0 ) . ‘”J—g ' &
c. tan(@) = 1and cos(6) < 0. 3 Q"Wl} s (9)° ‘5% &b)(g)i—%
d. sin(9) = ——/:and c{:t 063420 ; QM @»m& (o3 (UA} 'L H}"‘(Q): . \ﬁ:
e. tan(8) = —V/3 and cos(6) < 0. ):i Qw‘kd e (tl - V} o M(é}) - %
£ sec(§) = —2andsin(8) < 0. Q‘U«A sm(9)z- fﬂlq[@ )= Jj\
pct(e) = V3 and c<c$(6)6> 0. ° [5* Quad: sin( é):i; w5 (0295 [ 4
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9. Tobyalso thlnks the following trigonometric equations are true. Is he corr

a. sin (n —% = sin(7mr) — sin (§>
b. cos (n — E) = cos(m) — cos (7—35)

~%)=tan (3) - tan (3)

d. sin (n +7) = sin(x) + sin (6)

e. cos (n +5) = cos(m) + cos (—Z{)
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